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cos(”—lﬁz;—”ﬁ’—”‘l) 4 2 2 2

0, — 6 0, —6y . 03— 0, 61 + 05 + 03 — 6, :
=y = —2sin 12 % sin '2 9 sin "2 % cos 1+ '; 2 0—+—sm90

FIEEATS ) - K - L g -

TEH 2.2, VB PEEHAG TR

Cos ((11 +f}z+ﬂ2+ﬂ1 — 2y )(f — cos H{]) + q]n( ih +f}2+ﬂg‘+f).1—2f’}[})(y _ Sin 9[]) — _25_"] ih ;ﬂu Siﬂ ﬁg;ﬂia Sin ﬂ:];ﬂ[] Siﬂ ﬂ.|;f’}[]
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g ° 2 9 } 5
=6y . B—0y . 03— O+ 02+ 65— 0y . 0140+ 65+ 60, — 26,
— 2sin sin sin cos sin
2 2 2 2
= — 2sin 61— 6o sin 62 — b sin 03 — bo
B 2 2 2
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COS(G1+92+BZ+64—290)(I — cosfy) + Siﬂ(wxy —sinfy) = —9sin & en sin 92 b gjp 3= 90 sin 84z 90
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P —ZSlﬂ 2—6g
2

” 9 ein 01— . 02 —8, s 04 —0), s Oy —0), 0y +0,+4045+045—20, D cin 01— 0 o By —8), . 05 —0, . 03—, s Oy 400404404 —20, -
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L()S 0r+0 +0, +0r\—700)(_.l. — COs ()()) + Sin(()'t+0:5+0:)|+0r.—‘20")(y — sin (}”) — —92sin 02 0() sin 0};0(1 sin 01 0«1 0:‘.—011
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sin 291+92+6I')§+3.1—390 — sin 92+93-I—942+295 =360 2 cos 91+92—I—934‘—’9-| +605—38p sin 91;9.’,‘

Iql + 92 + 93 5 94 + 9;, == 300
an

2
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